
 תשובות סופיות
 בגרות קיץ 2007 מועד ב' שאלון 003

 1 שאלה
 מ " ק 246 . ש    ב " קמ 60 , ש " קמ 84 . א : פתרון

 2 שאלה
0,6 ( ) ( ) . א : פתרון , 8,0 A B    − ר " יח 32 . 2 ב ר " יח 24 . 1 ב 

 3 ה שאל

x 0 . א : פתרון 0,0 ( ) ( ) . ב ≤ , 1 . ג    2,0 1,2 2 
     
  

 4 שאלה
0 . א : פתרון , 3 x x x =        = −  ר " יח 15.75 . ב 2 =   ,    

 5 שאלה
 24.5 . ב 3.5 . א : פתרון

 6 שאלה
A 2 . א : פתרון 2,5 ( ) ( ) . ב = , 0.5 ,    5 

 ד ראו באתר מלומ ­ פתרון מלא ומודרך

 מיועדת רק 6 שאלה
 לתלמידים שאושר להם

 מובחן מותאם
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